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COMMERCE
Paper - 4.5 :E-Business and Gomputerized Accounting

Time : 3 Hours
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lnstruction : Answers should be written
or in Kannada.

SECTION _ A

1. Answer any S(five) sub question, each correct answer
2(two) marks.

a) What is EDI ? .i:;.'.

b) What is a B2C model ?

c) Differentiate between group and ledger.

d) What do you mean by M-banking ?

e) Write any two types of cards.

f) Write the command for creation of tedger.

g) Expand SAP.

h) What is tally report ?

' sEcTtoN - B
1

Answer any 3(thrdbl question, each correct answer carries
S(five) marks.

2. what is a voucher ? Explain any 4 types of voucher in Tally.
3. Briefty explain the uses of SAp in Business.

4. Explain any 4 revenue models in E-Commerce.

5. Explain the difference between NEFT and RTGS.
6. write a brief note on basic financial report in Tally ERp.g.
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Max. Marks : 70

English

(5x2=10)

(3x5=15)

P.T.O.
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SECTPN - C

Answer any 3(three) question, each correct answer carries

l2(twelve) marks" (3x12=36)

7. Explain in detail various E-commerce business models.

8. What are App based E-payment system ?

9. Discuss the various features of Tally EHP.9.

10. What is cyber law ? Explain its importance and areas covered irr eyber law.

11. Pass the neeessary voucher entry and name the group to whieh they belong

to in tally, in book of M/S Kedarnath Traders.

Date Fartieulars 
!

2|05PAX Started business with cash T 5,50,000

3lCISl2121 Opened a bank account in Axis bank and deposited T 1,75,000

6\ASDA21 Purchased a air conditioner from Pai Enterprise for t 55,000

71A5,2A21 Paid salarV = { 82,000 and lnternet charges = { 4,500

141A5,2021 Sold Goods to Mr. Guha on credit T 74,500

1810512021 Withdrawn for personal use T15,000

231CI5QA21 Received Commission from Tata Company Share < 12,000'

25rc5l2021 Mr. Guha returned good to the business { 5,000

. 
SECTION - D

,fi

Answer any tr{one) question, eaeh correct answer carries

9(nine) marks. (1xg=9)

12. Explain the steps to create a company in tally and create an imaginary company

with details.

OR

ENplain F12 Configuration in Tally.
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J. iignd Cn{de ad; u:u q,dqdwd erudox:. 4s SooSJad erodd{.1 ":dd> eoddgabn
-J ^ ^ aJ-JJco-rdrit.l(rec)" (5x2=10)

a) EDI uroCded: t
b) B2C ilDdo .toddeab ?

c) rbog (group) drq eJd?*d ddrd droors.

d) oo-anroEoff aodd ed:*e*Srded.:

e) Cnd;de odd; oegoi: mffrdseo udoi:0.

f) eidtrcf d?idri udddl(command) udoi:o.

g) SAP erdl eso&.

h) orrO ddo;odded: Z

sq,Drl - e)

dsnd oxn$mddo $Jo& €,-d{ri9d erudo&. €,,9 nodEd wddg 5 erodrtgabn
-J^ ^ a )-),Jcsrou(re.)e(J. (3x5=15)
Z. dBea3i aoddenb ? undeo$O-CDd)de 4 .)efi {oez.ld eld:n edoxi.
3. aara;addO_ SAp d erudCoeilrldd:. Ho8dryofl adOrr"
4. q-r"d)x€rdO_ o$a{rde 4 esooo3: c:adorlssq .)do&.
5. NEFT abd: RTGS ddrad trmoBde.)dox).
6. es%e EHP.9 co_dmoq:nd drara$r dd6c$dlBosdaan udogro.

,, Eprt _ ,x

dqind Cndoaddo 6J)/adlfg{fiwrf s"udEtu. d,e SEosr?d en:ddg 12 eodrisdl
J^^6J-J-Jquo'i.,Oue.". (3x12=36)
-? 

^^-] 
J-J/. oioJQ q-rad:xfr drdood Cradorl#di &ddanA &doe.

B. er,rAEedif erqood.a-Eodg drdtaoddeC: ?

9. LDdO ERP.9 d Dad {a*rd#e a3zir:r.

10. {,ud mdnnb ooddenb ? edd agCr:$rd abdr trr.e rodo&do_ ugrtooad:d
{,deddsrbo ado&.
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11. [F*Oo$O-errld, {pezsor dilodde aoxo dnB afrQ egddr feo&d rbodnbn,

M/S deoaduoC oca, acaorl$ d{ ddo- dioxr.

6enod sddil$t)

2lO5t2O21 < 5,50,000 ddaood uiDrmd qrdops,dd)

3rc512A21 ersj56 zqoEd0-?rDrof arod ddd: < 1 ,75,000 deded 'aa^l6"od

610512021 { aotlo6{nxif0od t 55,000dr dan&o$ogsaddbn $oe6xrd

7rc5PA21 amdBtud dous = T 82,000 d:q eoudrttr d.:e.tl$: = { 4,500

1410512021 t 74,5A0 xae.:dO-Q,e rbaa.egdori id$rl$d1 dnoa8 dDad

'l8t}5t2}21 {oJrfd u$droR { 15,OOO bodrid:do$Pnd

23105t2021 oooro dodO deo0od T 12,000 dtudil6 ddddr

2510512021 9e rbaa egddr T 5,000 6"ra"q id'drrf96b4 boadrR$ddr.

O?pd - A

Esnddrleod oindde l(uod>) 6dnd erudo:r. €,e noohd en:$d$ 9(t ouQ)

erodrlgabn dooa&dd. (1x9=9)

1 2. EDdOod:O-dod0oJrS* ddiel dr* deldo$d1 ddBer: dodil$d1 ado&.

epCao

oo.Oo$O F12 do&rldedor egd). &don.
di ca 

,-q) 
o(


